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Exercises:

1.

In 1978, Geoff Capes of Great Britain threw a heavy brick a horizontal distance of 44.5 m.
Find the approximate speed of the brick at the highest point of its flight, neglecting any
effects due to air resistance. Assume the brick landed at the same height it was launched.
(6 Points)

(a) What are the period and speed of the motion of a person on a carousel if the person
has an acceleration magnitude of 0.80 7/s?> when she is standing 4.0 m from the axis? (b)
What are her acceleration magnitude and speed if she then moves in to a distance of 2.0 m
from the carousel center and the carousel keeps rotating with the same period? (7 Points)

If you push a block whose mass is 111 across a frictionless floor with a horizontal force of
magnitude Fy, the block has an acceleration of 12m/s%. If you push on a different block
whose mass is m, with a horizontal force of magnitude Fy, its acceleration is 3.0 m/s2. (a)
What acceleration will a horizontal force of magnitude Fy give to a single block with mass
my —my? (b) What acceleration will a horizontal force of magnitude Fj give to a single
block with mass my + m1? (7 Points)

A chain consists of 5 links, each having a mass of 0.10 kg. The chain is being pulled upward
by a force applied by your hand to its top link, giving the chain an upward acceleration of
2.5m/s?. Find (a) the force magnitude F exerted on the top link by your hand; (b) the net
force on each link; and (c) the magnitude of the force each link exerts on the link below it.



